= =
aX n-I_ %
=3 I3 S M 3 & E
A — — > == i > - Ig*ﬂ%g
T B TITVITHAVEEHTSAURERELSE
GSO499THAVEBEISAIURERETLSE
TS049 T HAVEICBESERIED=H. EBTSARFER
H-ICRETHIE,
B I & & FMETHEXIIET12-3 IZENE
OEIZAFHZREILSE
FEEISA K WI1790 X H2450— 65
OXEISA(RREISE
% H O£ % BETSAUR KEAALTW2700 X H2110—54
OESRFHIE
F—TIIVEER . RAVFRYIRESRE
B R X » TN ITE
BEL—TUERELYS
'B I B [ * = &
B I H# H

S 3%F 98 17BZF T




R S -

2 a3 BIEID EGR O 8 % | Ht | B\ @) & %8 M) fi&
I THAVEBHISARERETE
m__ &R
EETEE 1 — | =
EEITE E
HBERRE 1 — | =
MIEE
RiGEHE 1 — | &
T =R
—REEEE 1 — | =
T itk
I %
CHEBMELEE 10% 1 — | =

IEE 5

B#E (5 1 5



R S -

£ R BIEID E X O 8B # B | B @ (FD & %8 M 1
EETEE ARE
MRERTEE 1 — | R
2BIZFAVHBRETEE W1,790 X H2,450- 64 1 — =K
3 REEBHISAVREBETEE|W2,700xH2,110- 55 1 — | =
4 BEXRBIEE 1 — | R

EETEE &

B#E (8 2 5



R S -

£ L BIEIT EGR D) =] # Bfy | B @ (M) £ %8 (A fi&
A ER BA #A
AERIEE
1 RETEE
N HAOmELT #MAL, 188 E )
R ERRHIL B 35 wEss 12 .: 6 m
H5.7mEL EH7 4m3R ., ALY .
R ER AR A4 R 15 B CEREST 12 .. 6 m
BEC—FEE) INERE 25 .1 2 m
BB ERBET MR 25 .1 2 m
R E% 1 E ik 25 i 2 m
BEH—TUBENLS W3,600 X H2,450— 3% 1 - =
1 -/ 5t
2 BISAVRREIEE
BRFAIDIN—DHRILF—
FHERISAUK W1.790 X H2,450 6 — =1
AR E 6 — =
2 - M Et

B#E (8 3 5)



R S -

% FR BIEID EGE D) B % B | B (M & 8 (M) 1%
BREEHISANBRETEE
BT P i | 5 | | &
ACEB T4V 6 — 1
TILFRAVF 1 — | @&
LANY 2725 )Lt 650 & 1 — =
RARTE 28 i 5 m
EHEIERE 5 — a
3 -/ &t
4 BEXRBEIEE EIRBEE A £ Y5 I
APINE—INDUY AR 3 — m
APINE—NDUY BE! 25 — m
A2 IVE—ILER# 1 — =X
=TI (ENERR) EM—EEF 1. 5—3C 39 — m
= MVVS 0. 7—4C 33 — m
RAYFRYYR BE 1{EA 5 — &

BE (8 4 5



R S -

% 5 S EI T B D) & % | Bt | B @& @D & %8| (M) ]
BERIL—t 1~3{E 4 — | &
M HAES 1 - | K
Bt HHE 1 — =

4 -/ E

EETEE &

B#E (8 5 5)





